€YYAMAHA MB1000

Peak Meter Bridge for the DM1000 Digital Production Console

Owner’s Manual / Mode d’emploi / Bedienungsanleitung /
Manual de instrucciones /00000

English
Thank you for purchasing the MB1000 peak meter bridge for the Yamaha DM 1000 Digital Production Console.
Please see the DM 1000’'s Owner's Manual for information on installing and using the meter bridge.
AWarnlngs m Package Contents
Do not alow water to enter this unit or alow it to become wet. MB1000 1
Fire or electrical shock may result. Meter bracket L 1
« Do not modify this unit. Doing so isafire and electrical shock Meter bracket R 1
hazard. Rack angle 2
» Beforeinstalling this unit, be sure to unplug the DM 1000. Screw M4x8 8
Otherwise, you risk an electrical shock. Screw M4x12 4
« For information on installing this unit, refer to the owner’s Owner’s Manual 1
manual for the device into which you are installing it. m Specifications
Di i WxHxD): 4 4x81
For Europesn Moc Dimersions WD) 430<64<61 mm
Purchaser/User Information specified in EN55103-1 and EN55103-2. T
Conformed Environment: E1, E2, E3 and E4
Francais

Merci d avoir porté votre choix sur le bandeau de bargraph MB 21000 pour la console numérique de production DM 1000
Yamaha. Veuillez lire le manuel de laDM1000 pour en savoir plus sur I’installation de ce tableau de VU-meétres.

AAvertissements m Contenu de I'emballage
« Evitez de mouiller I’ appareil ou de laisser pénétrer del’ eau dans MB1000 1
son boitier. Il y arisque d’incendie ou d’ électrocution. Equerre deVU-métre D 1
« Cet appareil ne peut pas étre modifié par I utilisateur. 1l y arisque Equerre deVU-métre G 1
d'incendie ou d’ électrocution. Equerre de montage en rack 2
e Avant d'installer la partie au dispositif, veillez a déconnecter le Vis M4x8 8
dispositif de la prise secteur. Dans | e cas contraire, vous risquez Vis M4x12 4
de vous éectrocuter. Mode d’ emploi 1
* Pour en sav?ir plus_sur I'installation de ce composant, voyez le m Fiche technique
manuel de |’ appareil dans lequel vous souhaitez installer le Dimensions (L xHxP): 430x94x81 mm
composant. Poids: 1,6 kg

Pour le modéle européen
Informations pour |’ acheteur/usager spécifiées dans EN55103-1 et EN55103-2.
Environnement adapté: E1, E2, E3 et E4
Deutsch

Vielen Dank fir den Kauf der MB1000 Peak-Meterleiste fir das Digital-Produktionsmischpult DM 1000 von Yamaha. Bitte
lesen Sie sich die Bedienungsanleitung des DM 1000 durch, um zu erfahren, wie man diese Meterleiste installieren muss.

&Warnungen m Lieferumfang
* Vermeiden Sie, dald Wasser oder andere FlUssigkeiten in das MB1000 1
Geréteinnere gelangen. Dann besteht ndmlich Schlag- oder Meterbrickenwinkel R 1
Brandgefahr. Meterbrickenwinkel L 1
* Dieses Gerét darf vom Anwender nicht modifiziert werden. Rackwinkel 2
Dabei bestehen namlich Brand- und Schlaggefahr. Schrauben M4x8 8
* Vor Installieren des Teils am Gerét muss das Gerét ausgeschaltet Schrauben M4x12 4
werden, da sonst Stromschlaggefahr besteht. Bedienungsanleitung 1
. Weitere.Hinweise zur Installation"des'll'eils ent.nehmen Se bitte - Spezifikationen
d_er Bedienungsanleitung des Gerétes, in das Sie das Teil Abmessungen (BxHXT): 430x94x81 mm
einbauen. Gewicht: 1,6 kg

Fir das européische Modell
Kunden-/Benutzerinformation nach EN55103-1 und EN55103-2.
Entspricht den Umweltschutzbestimmungen: E1, E2, E3 und E4



Espariol

Gracias por adquirir el puente de vumetro MB1000 parala mesadigital de produccion DM 1000 de Yamaha.
Por favor, leaatentamente el manual de instrucciones del DM 1000 para obtener informacion de como instalar €l puente de

VU-metros.

A Advertencias
 No permita que entre aguadentro de launidad, ni que ésta
se humedezca. Esto podriaresultar en descargas
eléctricas.

» No modifique launidad. Si lo hiciese, supondria el riesgo
de descargas el éctricas 0 de un incendio.

» Antesdeinstaar laparte en el dispositivo, desconéctelo.
En caso contrario, corre €l riesgo de sufrir una descarga
eléctrica.

 Paramasinformacion acercade como instalar la parte,
consulte el manual del usuario para el dispositivo en el
gueinstalala parte.

Modelo para Europa

m Contenidos del embalaje

MB1000

Soporte parail VU-metro D
Soporte parail VU-metro |
Soportes para montaje en rack
Tornillo M4x8

Tornillo M4x12

Manual de instrucciones

PRONRRPR

m Especificaciones

Dimensiones (AnxAlxPrf): 430x94x81 mm
Peso: 1,6 kg

Informacion sobre el comprador/usuario especificada en EN55103-1 y EN55103-2.

Entorno de acuerdo con: E1, E2, E3y E4

god

ooooomooooooboooooooooocOoo bMiocoOoOOOOOOOOOOOO MBlOOOOOOOOOOOOOMMOO
goooooooooobooooOoooobomMiocooOOOOOOOOOOOOOO

' R2LEDTS

—Eﬁt..bﬁhb‘f:f:’(f:b—

A\

ooooooooocoooooooobooo
ooooobooocoomooooooo
ooooooooooboogoo

=
==

gobooooboooooomoooooomooboOogon
omoooooooooon
gooooobooooomoooooooooboooooo
ooooooo

#¥RROOODDODOOOODODOODDOO0ODOOO00OO00O0
00000000000 MmMODOD0D0000000nooooo
0000000000000 00MM0O0000Nooooo
oooo
000000000000 00000DO0000

BETOI
AJDDJDDDDDDDDDJDDDD
®DDDDDDDDDDDDDDDDDD
%OJDDDDDDDDDDDDDDD

HE 5
MB1000 OO 10

oooooooo L 10
oooooooo R 10

0oooooo 20
00 M4x 8 80

00 M4x 12 40
ooooo 10

ooo 10

[ a3

OCOWx Hx DD430x 94 x 81mm
0 001.6kg

REThDLEE

goooooooooomooobooooo
goooooooooomoobooobooo
ooooomoboooooooooboobn
ooooooooobooooo

CHERICEDEE

e UDOOODOODOOLDOOOLDOMIOOO
gbooobooooo

@ @

oooo

00000000000 MO0000on

0000000000000 0000M0

000000000

poppopppon e OO0 00000000000 OOOOO
ean 0000000000000000

®

Z9) vl < OEGREBAE &
Dsovine|. 5zt Rl

Z DERFIAE L EIEFRM (ECF: BERRFEL/LT) £EALTVET,

This document is printed on chlorine free (ECF) paper with soy ink.

YIYNYZaTINSATF)—
http://www2.yamaha.co.jp/manual/japan/

Yamaha Manual Library
http://www2.yamaha.co.jp/manual/english/

M.D.G., Pro Audio & Digital Musical Instrument Division, Yamaha Corporation
© 2003 Yamaha Corporation

WA33810 302IPCP5.2-01A0
Printed in Japan



